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Why 1s It dangerous to travel on the roof of bus 7 s o
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Difarsniato betwsen artfclal and natural satelits dophewsib i ¢
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Writs down two causes of thermal poliution @MM}
What la meant by Mass-Energy equation ? , YAl ebbfMA A

Q.No.4 _ Write short anewers any Five of the following x2w10 {@ML«WQM&H;W
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Find the volume of 200 g of lead shot baving density 11300 kgm™ q.ﬂmuwﬁ&;"w;&yruf ) 1
What s difference between upthrust and principle of floatation ? 1 e N
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The diameter of the piston of a hydraulic press is 30 cm. How much force I6 required to lift s car
[ weighting 20,000 N on ts piaton. I the diameter of the piston of the pump e 3 cm
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